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I. Answer the following as question. 1x7=7
G AT T forane
Define molality of a solution.
b1 ¥@q WefebE sieet 7 |

b)Find out half life time of a first order reaction with rate
constant, k=2.31x10™ s’
e e RS b9 S 99, k=2.31x10" s 2=
GEG I et |
c) Name the functional group of a compound that gives silver
mirror test with Tolien’s reagent.
(17 IbiZ Bre R R ae1e feTela wieella =1t (red)
PR TS A forat )
_;l'f Name two transition elements which does not exhibit var
able oxidation state. '
ARG | G GZ! (TSN ALGNe %] YOI A o1 |
vpj’ﬁ/ritr: the [UPAC name of the following:-

o (B [UPAC 1% forat et
[Co(NH,),CI]CL, V“X
f) Phenols are acidic in nature- why.
feet wnfee «if— fba e
_gYWhat is an ideal solution?
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2. a)Complete the followi ng reactions -
AL ﬁﬁ‘?ﬂm WM °
i) R-H0+PCIJ —39 . R-el +

1x5=g

Cl

i) Nf{t\;rno, H.0/warm
e > ?

NO,

X
i) 2 ©/ +2Na — 4

i‘V) R_CH1 ‘CHZ"OH H.S0,/170°C 5 2

0]

[0t
V) RcR QENNH .
() KOH

b. Taking an example of a 3°-alkyl halide, discuss the mecha
nism of unimolecular nucleophilic subistitution N)
reaction) 3
b1 3° Gefda (R THrzaeitel a3 SiRs oG R
Rférar (SN, ) femnff ez 3=

¢. What do you mean by asymmetric carbon? Give an example
of an organic compound having asymetric centre? 1+1=2
SRS R oo 3 3 D e e o R T
1R B ey |
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all the reaction of carbonyl compounds with Grignard

5 a) Wnie
J+1+1=3

reagent giving 1% 2° and 3° alcohols.
M faatasa Bive fafa 3% 19,20 1% 30 GABLH AGE

a1 A Bt e fafdpcara farn

b. What is Reimer-Tieman Reaction? Give equation for the re
action. [+1=2
v o R @ ¢ R e w1

c. Explain why halogen group (-x) is ortho, para directing and
activates the aromatic ring towards electrophilic substitu-

tion. 2
(T TG T (x)od, o Rt W G TP 5 2 Y

o SgIoE A A 51 T3 Il 1

/0./ fine colligative properties? Show that elevation of boiling

point is a colligative property ? [+2=3
RIS 43(F gt vl | Crane T GO TAAA B! TRYITS

if |

b. Derive the expression for determination of 2 molecular mass

volatile solute from depression of freezing point?
3
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i ARI FA
.c@tate and explain Henry's law. At the same temperature. CO,

gas is more soluble in water than O, gas. Which one of them
will have higher value of K.;? 2+1=3

of a non-

o ! R 11 3 | 90 SIS IS CO, CofRd
TRl 0, (TestF B | PRI (7t K, 9 @R T2
d. The beiling point of benzene is 353.23 K. When 1.8 g of
non-v¢latile solute was dissolved in 90 £ of benzene, the
Che/3




boiling point is raised to 354.11 K. Calculate the molar mass
of the solute. K| for benzene is 2.53 K Kg mol”. 3 |
@A TEAI® 353.23 K. 1.8 g WUl &% 90 g (RS
woS IS Al Jff (2 354.11 K Lt | i wiafie

o1 Sl 941 | TR K, W 2.53 K Kg mol™.

5.a) Give the difference between order and molecularity of a re

action. 2

fraia T S SRR i1 To 34l
b. Derive the rate equation for first order reaction? What is the

unit of rate constant (k) for first order reaction?
e e RAEER mqﬁwwﬂ:awﬁw s

214:=3
g (k) &9 7 et
red for completion of ;thofa first

c. Show that time requi '
tion is twice the time required for completion of
3

2 tion.
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{ Denve Nernst equation ?

st sty S o4

6, ARepresent the cell in which the following reaction takes place,

Mg“"* 2Ag" (0.0001(M)) , Mg (0.13(M)) 2Ag'Y

[+2= 3

Calculate the E_, if E' = 3.17 volt
eera (T fARFIICOA ey A e A ol 7R @D
B =317 V&, (58 CRIATHIALE_, 4 3 2191 40
Mg+ 2Ag" (0.0001(M)) ——» Mg (0.13(M) IAg
b. The standard clectrode potential for a Daniel cell is 1.1V
Calculate the standard Gibb's encrgy for the reaction?
a0t cofRrae ra e e f4ead e 11V R &=
Mg 3 &2 A e S
7. a) Give chemical tests (0 show that [Co(NH
[Co(NH,),SO JCl are ionisation iSomer.
[Co(NH,),C1]SO H% (Co(NH,),SO,]CI
crardte AR w8 Soe 1|
tion com

b. Mention two analytical application of co-ordina
1 1
g 5 =

(s)

)ClJSO, and
2

e S 4

pound.
WA it o1 CacsfRe aed T 4

¢. What are the ambidentate ligands? Give one suitable ex
ample of ambidentate ligand. [+1=2

afrures e @1 afRTerop s Bl Toge SHIZ

izl |

d. Using valence bond theory, show that [N:(CN),]* emplex
is diamagnetic in nature (Atomic no. of Ni= 28). 2
CAIGTS! AEA O LTS O (X [Ni(cm‘]l-wfbawm

GAGEE 1 orgpf | (Ni 3 SIS @3IKE = 28)
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8. a) Explain why:
F1a9 Wil

R A
))d(c colours less but Ti * is coloured

Sc* B'H S g Ti * 78|

ii) In aquous solution Cu (If) is more stable than Cu (1)

s w@s Cu (1) SEA! Cu (1) 99 cafe 72!

A Write the electronic configuration of following ions and also
ent value of the ions.

calculate the spin only magnetic mom
242=4
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